
1. Select the correct mirror image of the given combination

when the mirror is placed at MN as shown.

दिए गए सयंोजन के सही िर्पण प्रदिदबंब का चयन कीदजए जब िर्पण को

MN र्र रखा जािा है, जैसा दक दिखाया गया है।



Q.1 Statement :/कथन :

Should the Indian government support orphanages?

क्या भारिीय सरकार को अनाथालयों को सहारा िेना चादहए?

Argument :/ तर्क :

I. Yes, the poor economic and social condition

indicates the need for government support.

I. हां, खराब आदथपक और सामादजक दथथदि सरकार के सहारे की

आवश्यकिा को इदंगि करिी हैI

II. No, fake NGOs thrive and misuse government

funds.

II. नहीं, फजी गैर सरकारी संगठन र्नर्िे हैं और सरकारी धन का

िुरुर्योग करिे हैंI

(a) only argument is strong / केवल िकप

मजबूि है

(b) Neither argument I nor argument

II is strong / न िो िकप न ही िकप II मजबूि

है

(c) Only argument II is strong / केवल

िकप II मजबूि है

(d) Both argument I and II are strong /

िोनों िकप I और िकप II मजबूि हैं



Q.2 Statements:/कथन:

All pencils are erasers.

सभी र्ेंदसल, रबर हैं।

All sharpeners are erasers.

सभी शार्पनर, रबर हैं।

All compasses are sharpeners.

सभी र्रकार, शार्पनर हैं।

Conclusions:दनष्कर्प:

I. All compasses are erasers.

I. सभी र्रकार, रबर हैं।

II. Some compasses are pencils.

II. कुछ र्रकार, र्ेंदसल हैं।

III. Some erasers are compass.

III. कुछ रबर, र्रकार हैं।

a) Only conclusions I and III follows

b) Only conclusion I follows

c) Only conclusion II follows

d) Only conclusions I and II follows



Q.3 Select the combination of letters that when

sequentially placed in the blanks of the given series will

complete the series.

अक्षरों के उस संयोजन का चयन कीदजए दजसे िी गई श ंखला के ररक्त

थथानों में क्रदमक रूर् से रखने र्र श ंखला रू्री हो जाएगी।

A B Z _ P A B _ K P A B X K _ A B _ K P

a) A C B Z b) A Y Z W

c) K Y P W d) K C Z W



Q.4 Which of the following numbers will replace the

question mark (?) in the given series?

दनम्नदलदखि में से कौन सी संख्या िी गई श् ंखला में प्रश्न दचह्न (?)

प्रदिथथादर्ि करेगा?

1724, 1716, 1689, 1625, 1500, ?

a) 1296 b) 1284

c) 1254 d) 1280



Q.5 The second number in the given number pairs is obtained

by performing certain mathematical operation(s) on the first

number. The same operation(s) are followed in all the number

pairs, EXCEPT one. Find that odd number pair.

िी गई संख्या युग्मों में िूसरी संख्या र्हली संख्या र्र कुछ गदणिीय 

संदक्रया/संदक्रयाए ँकरके प्राप्त की जािी है। एक को छोड़कर सभी संख्या 

युग्मों में समान संदक्रया/संदक्रयाए ँका अनुसरण दकया जािा है। दवर्म संख्या

युग्म ज्ञाि कीदजए।

a) 25 : 100 b) 22 : 66

c) 24 : 96 d) 18 : 72



Q.6 Which of the following numbers will replace the question

mark (?) in the given series?/

दनम्नदलदखि में से कौन सी संख्या िी गई श ंखला में प्रश्न दचह्न (?) को

प्रदिथथादर्ि करेगा?

11, 13, 29, 91, 369, ?

a) 1815 b) 1851

c) 1158 d) 1518



Q.7 Select the option that is related to the third word in the same way as the

second word is related to the first word. (The words must be considered as

meaningful English words and must NOT be related to each other based on

the number of letters/number of consonants/vowels in the word)

उस दवकल्र् का चयन कीदजये जो िीसरे शब्ि से उसी प्रकार संबंदधि है दजस प्रकार िूसरा

शब्ि र्हले शब्ि से संबंदधि है। (शब्िों का साथपक अंगे्रजी शब्िों के रूर् में माना जाना चादहए

और शब्ि में अक्षरों की संख्या/व्यंजनों/थवरों की संख्या के आधार र्र एक िूसरे से संबंदधि नहीं

होना चादहए)

Car : Bonnet :: Boat : ?

a) Stern b) Mast

c) Bow d) Port



Q.8 Select the option that is embedded in the given 

figure as its part (rotation is NOT allowed)./उस दवकल्र् 

का चयन कीदजए जो िी गई आक दि में इसके भाग के रूर् में 

सदननदहि है (घूणपन की अनुमदि नहीं है)



Q.9 In a certain code language, “CLIENT” is written as

“LCEITN”, and “CLOSED” is written as “LCSODE”.

How will “FAMILY” be written in that language?

एक दनदिि कूट भार्ा में, "CLIENT" को "LCEITN" और 

"CLOSED" को "LCSODE" के रूर् में दलखा जािा है। उसी 

भार्ा में "FAMILY" को कैसे दलखा जाएगा? 

a) FAIMYL b) AFIMYL

c) AFIMLY d) AFMILY



Q.10 Which of the following letter-clusters will replace the question

mark (?) in the given series to make it logically complete?

दनम्नदलदखि में से कौन सा अक्षर-समूह िी गई श् ंखला में प्रश्न दचह्न (?) को

िादकप क रूर् से रू्णप करने के दलए प्रदिथथादर्ि करेगा?

WDV, TGS, QJP, NMM, ?

a) PJK

b) KPJ

c) JPK

d) JKP



Q.11 Select the option that is embedded in the given figure 

as its part (rotation is NOT allowed)./उस दवकल्र् का चयन करें

जो िी गई आक दि में इसके भाग के रूर् में सदननदहि है (घूणपन की 

अनुमदि नहीं है)



Q.12 Select the option that is related to the third term in the

same way as the second term is related to the first term and

the sixth term is related to the fifth term.

उस दवकल्र् का चयन कीदजये जो िीसरे र्ि से उसी प्रकार संबंदधि है दजस

प्रकार िूसरा, र्ि र्हले र्ि से संबंदधि है और छठा र्ि, र्ांचवें र्ि से

संबंदधि है।

14 : 21 :: 34 : ? :: 47 : 87

a) 61 b) 57

c) 65 d) 53



Q.13 In the following question, select the missing number

from the given series. / दनम्नदलदखि प्रश्न में दिए गए दवकल्र्ों में

से लुप्त अंक ज्ञाि कीदजए।

3, 8, 5, 27, 8, 64, 12, 125, 17, ?

A 216 B 361

C 625 D 441



Q.14 In the following question, select the number which can be

placed at the sign of question mark (?) from the given

alternatives. / दनम्नदलदखि प्रश्न में दिए गए दवकल्र्ों में से प्रश्न दचनह (?)

के थथान र्र आने वाली संख्या को चुदनए|

A 35 B 42

C 45 D 95



Q.15 In the following question, select the odd word

from the given alternatives. / दनम्नदलदखि प्रश्न में दिए गए

दवकल्र्ों में से दवर्म शब्ि को चुदनए।

A Ludo / लूडो B Chess / शिरंज

C Polo / र्ोलो D Carrom / कैरम



Q. 16 Select the correct combination of mathematical signs

to replace the * signs and to balance the given equation.

दचह्नों को प्रदिथथादर्ि करने और दिए गए समीकरण को सिुंदलि करने

के दलए गदणिीय दचह्नों के सही संयोजन का चयन कीदजये।

62 * 17 * 6 * 81 * 23 * 2 * 37

a) +, =, ÷, −, +, ×

b) −, ×, =, −, +, ×

c) =, −, ×, +, −, +

d) +, ×, −, =, ×, +



Q.17 Two different positions of the same dice are shown, the six 

faces of which are colored Red, Green, Blue, Yellow, Black, 

White. Select the color that will be on the face  opposite to the one 

colored White./  

एक ही र्ासे की िो अलग-अलग दथथदियों को दिखाया गया है, दजनमें से 

लाल, हरा, नीला, दर्ला, काला, सफेि छ: फलक के रंग हैं। उस रंग का चयन 

कीदजए जो सफेि फलक के दवर्रीि फलक र्र होगा।

a) Red b) Green

c) Black d) Blue



Q.18 A paper is folded and cut as shown. How will it 

appear when unfolded?/एक कागज को मोड़ा जािा है और 

दिखाए गए अनुसार काटा जािा है। खोले जाने र्र यह कैसा 

दिखाई िेगा?



Q.19 given words as they would appear in an English

dictionary.

उस दवकल्र् का चयन कीदजए जो दिए गए शब्िों के सही क्रम िशापिा

है जैसे दक वे एक अंगे्रजी शब्िकोश में दिखाई िेंगे।

1. Sanitization

2. Sanctuary

3. Salvation

4. Salmon

5. Salesman

a) 5, 3, 4, 1, 2

b) 4, 5, 3, 2, 1

c) 5, 4, 3, 2, 1

d) 4, 3, 2, 1, 5



Q.20 How many triangles are there in the given 

figure?/िी गई आक दि में दकिने दिभुज हैं? 

a) 30 b) 24

c) 28 d) 26



Q.21 In a certain code language, 'GREAT' is coded as '2015187',

'WORK' is coded as '11181523' and 'GOING' is coded as

'7149157'. How will ‘WELL' be coded in that language?

एक दनदिि कूट भार्ा में, 'GREAT' को '2015187', 'WORK' को 

'11181523' और 'GOING' को '7149157' के रूर् में कूटबद्ध दकया जािा 

है। उसी कूट भार्ा में 'WELL' को दकस प्रकार कूटबद्ध दकया जाएगा?

a) 1425431 b) 3231345

c) 1454321 d) 1212523



Q.22  Select the related letter/ word/ number from 

the given alternatives.

दिए गए दवकल्र्ों में से संबंदधि अक्षर/शब्ि/संख्या का चयन 

करें।
FILM : 20 :: GROUP : ?

(A) 30 

(B) 35 

(C) 19 

(D) 40



Q.23 In an atm queue Abhishek is 22 from back of the queue and 

Sanjay is 12 from front  of the queue .There are four persons ahead 

of Abhishek to reach Sanjay. If three people Got money from Atm 

and left the queue ,what was the position of Abhishek from the 

front?

एक एटीएम किार में अदभरे्क किार में र्ीछे से 22वें थथान र्र है और संजय 

किार में आगे से 12वें थथान र्र है। संजय िक र्ह ंचने के दलए अदभरे्क से आगे 

चार व्यदक्त हैं। यदि िीन लोगों को एटीएम से रै्से दमले और वे किार से चले गए, 

िो सामने से अदभरे्क की दथथदि क्या थी? A.12

B.13

C.14

D.15



Q.24 A ranks 4th in a class ,B ranks ninth from 

the last ,if C is  ninth after A and just in the  

middle of A and B , how many students are 

there in the class?

A एक कक्षा में चौथे थथान र्र है, B अंदिम से नौवें थथान 

र्र है, यदि C, A के बाि नौवां है और A और B के ठीक 

बीच में है, िो कक्षा में दकिने छाि हैं?

A.33

B.32

C.31

D.30



Q.25 One evening Ram and Mohan were talking to 

each other face to face. If the shadow of Mohan was 

exactly to the right of Mohan, then which direction 

was Ram facing?

एक शाम राम और मोहन एक िूसरे से आमने-सामने बाि कर 

रहे थे। यदि मोहन की छाया मोहन के ठीक िायीं ओर थी, िो 

राम का मुख दकस दिशा में था?

A.EAST 

B. WEST

C.NORTH 

D. SOUTH




